Chemical Stoichiometry :

The Stoichiometry of reaction is the quantitative relationship among the
number of moles of reactants and products as shown by a balanced

equation .

Flow diagram for making Stoichiometric Calculations
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When the mass of reactant or product is given , the mass is first

converted to the number of moles using molecular weight .

The stoichiometry ratio given by chemical equation for the reaction is
then used to find the number of mole of another reactant. Finally ,the
mass of the other reactant or the product is computed by multiply by

molecular weight .

Example 8 : what mass of AgNO; is needed to convert 2.33 gm of Na,CO;
to Ag,CO5? What mass of Ag,CO; will be formed ?
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